PROGRESS CHECK TWO: 6 and 7 Year Old Questions

Student's Name:

Test administered by:

1.

18

Date:

1. Put the picture of the park scene in front of the student.

2.
3.

Ask the student to look at the picture.
Ask the student the five questions and tick whether the response is adequate or inadequate. If the response does not come easily

without prompting and/or does not contain the ideas listed in the adequate response, mark it as inadequate.

4,

Add the total scores at the bottom of the page.

(Interpretative) Why does dad look worried?

Tick

Student’s response:

Adequate response

The ball might hit him; because he thinks that the boy is going to kick the ball on him; because
the ball will hit him.

Inadequate response

He's worried with the ball; it might get him; the will do that; he's happy.

(Predictive) Where are the people?

Tick

Student’s response:

Adequate response

At a park; in a park.

Inadequate response

In the yard; at a farm; outside.

(Interpretative) Why is it dangerous for the little boy to stand here? (Point to the little boy at the boom of the slide.)
Tick | Student'’s response:
He will get hurt because the big boy is going to slide down and crash into him; the big boy will
Adequate response | come down and knock him over (MUST contain information about the little boy being hit as a
result of the big boy sliding down).
It's going to hurt; it could be dangerous for the slide and the little boy can't stand there; it might be
Inadequate response hurting him and the other boy goes down.
(Evaluative) Why is the lady angry? (Point to the lady chasing the dog.)
Tick | Student'’s response:

Adequate response

Because her dog ran away and he is not coming back; I think she is angry with her dog because
he is not coming when she calls him; she is trying to catch the dog but he is not listening.

Inadequate response

Because the dog is there; maybe her child did something naughty; she is cross.

(Predictive) What is the boy trying to do? (Point to the boy with the kite in the background.)

Tick | Student's response:
Adequate response | He is trying to catch his kite; he is trying to make his kite fly; he is flying his kite.
Inadequate response | He's there (points); a kite; up in the sky; don't know.
(Evaluative) If you were at this playground, which activity would you like to do?
Tick | Student’s response:
Play on the slide; dig in the sandpit; play soccer; ride my bike; fly a kite; run around; play with the
Adequate response dog; do the hula hoop.
Inadequate response | Play; (child says an activity not pictured, e.g. monkey bars); | have a park.
Summary Question Type
Response Predictive Interpretive Evaluative

Adequate response

Inadequate response
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